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[ I ] Read the passage below and answer the questions in English.

BEEORNRTAMTEE A,
1~3H
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EEEOBRTAMTE A,

H 8t : Janet Hardy-Gould, Chocolate (—ERea%)

) pulp : B
Lindt: V> (Faal—rDT5URK)

(B%f 1) What is the best title for this passage?
A. From Cacao Pod to Chocolate Bar
B. The Dark Side of Chocolate
C. The Texture of Chocolate
D. Typés of Chocolate

(%F 2) Which one of the fo]lowing is closest in meaning to (1)?
A. the body
B. the top
C. the roots
D

. the leaves
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(%M 3) Which cacao beans could become the best chocolate?

(BxFE 4]

(FFE 5)

(BxM 6)

XM 7

A.

Cacao beans placed under the sun for a week.

. Cacao beans placed under the sun for three weeks.

B
C.
D

Cacao beans dried in special buildings for a week.

. Cacao beans dried in special buildings for three weeks.

Regarding (2), what is the most remarkable change that happens to

“the beans?

Why do the factory workers set machines to a certain temperature

when they cook beans?

From the passage, choose one word that describes the procesé of

(3).

Write “T” if the statement is true and “F” if it is false.

A.

The cacao trees grow well in warm and extremely dry areas.

. The cacao pods change their colour as they grow.

B
C.
D

When you cut the cacao pods open, they smell of chocolate.

. Brokers mix different types of beans to get chocolate with the

right taste.
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[ I ] Read the passage below and answer the quéstions in English.

EEHEOBRRTAMTEE YA,
5~7TRH
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EFEORRTARATEZE A,

Hi 8 : Michael Wooldridge, Artificial Intelligence (—ERRZE)

OMT7(155—170)




(%f 1) Regarding (1), choose one of the following and fill in the blank.

(&R 2)

(M 3]

(M 4

(B&M 5)

(&% 6)

A. anybody
B. somebody
C. éverybody
D. nobody

Replace (2) with another conjunction in the passage.

Regarding (3), what was Turing’s answer to Hilbert’s

Entscheidungsproblem?
Complete (4) using the words in the box.

The ( ) ( ) ( ) ( ) ( )

( ) just recipes.

that / a / runs / computer / are / programs

Why was (5) named the Von Neumann architecture?

Regarding (6), choose one of the following and fill in the blank.
A. distances

B. ingredients

C. scientists
D

. mathematicians
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